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BRA3—2 BEYIVERATHEEESNLIEHEICEHTHEIE/2) FEFE _ | 29 E
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B4 TREDBIODBHILNDKRES TEEFDEEFSENDKRES TRZFENBBOESLNDOKRES TREDHERILNDKRES
] 100kN/m%E#B 2% — -~ = —|3mzBz3 — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZD — ~ — — —
Zzh st 1.00 | 000 ~ 477 59.47 | Fhst 000 ~ o000l 1.75 8.83 zhust 1.00 | 5.00 ~ 5.00 5947 | #hs | 600 ~ 500\ 1.75 8.83
2 100kN/m%E#B 2% — -~ = —|3mzBZB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ D — ~ — — —
zhst 1.00 | 0.00 ~ 6.09 76.36 | FnL4 | 000 ~ o000 1.71 8.64 Zh st 1.00 | .00 ~ 7.00 76.36 | FhRS | 500 ~ 700\ 1.71 8.64
3 100kN/m%E#B 2% — -~ = —|3mzBZB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ 5 — ~ — — —
Zzhn st 1.00 | 0.00 ~ 599 75.06 | FnS | 0.00 ~ 599 | 1.80 9.08 zhust 1.00 | 5.00 ~ 686 75.06 | Ens | 500 ~ 686 1.80 9.08
4 100kN/m%E#B 2% — -~ = —|3mzBZB — ~ — — — | 100kN/mZEB 2% — — ~ — —|[3mzBZ S — ~ — — —
Zzhn st 1.00 | 0.00 ~ 752 96.15 | #hst 000 ~ ooo| 1.72 8.71 zhust 1.00 | 5.00 ~ 993 96.15 | #hst | 600 ~ 993 1.72 871
5 100kN/m#E#BZ5 | 1.00 | 000 ~ 064| 10959 |3mEBZE| — ~ — — — | 100kN/mixE8z5 | 1.00 | 1056 ~ 1257 10959 |3mERZS — ~ — — —
zhst 1.00 | 064 ~ 843 100.00 | Fhds | 000 ~ 843 | 223 11.25 Zh st 1.00 | 5.00 ~ 1056 100.00 | Fhst | 500 ~ 1237| 2.23 11.25
g 100kN/m%EBZ% | 1.00 ] 000 ~ 008| 101.13 |3mEBZD - ~ — — — | 100kN/M%E#BZ2 | 1.00 | 1067 ~ 1088 101.13 |3mEHZD - ~ — — —
zhst 1.00 | 008 ~ 786 100.00 | Fhds | 000 ~ 786\ 211 10.66 Zh st 1.00 | 5.00 ~ 1067 100.00 | Fhdst | 6.00 ~ 1088 2.11 10.66
7 100kN/m%z#82% | 1.00 | 000 ~ 056 | 10824 |3mE82B| — ~ — — — | 100kN/mi%E#8252 | 1.00 | 1059 ~ 1221 10824 |3mERZD — ~ — — —
zhst 1.00 | 056 ~ 834| 100.00| Zhs | 0.00 ~ 834| 213 10.78 zhst 1.00 | 6,00 ~ 1059 100.00| Zhs | 500 ~ 1221] 213 10.78
g 100kN/m%E#B 2% — - ~ = —|3mzBzB — ~ — — — | 100kN/m%ZEB 2% — — ~ — —|[3mz8BZ D — ~ — — —
zhn st 1.00 | 0.00 ~ 705 89.44 | Fhust | 000 ~ 000| 1.65 8.54 zhst 1.00| 5600 ~ 914 89.44 | #hst | 500 ~ 914 1.65 8.34
9 100kN/m%E#B 2% — - ~ = —|3mzBzB — ~ — — — | 100kN/m%ZEB 2% — — ~ — —|[3mzBZ S — ~ — — —
Zhst 1.00 1000 ~ 6390 87.32 | #nls | 000 ~ 000| 1.57 7.91 Zh st 1.00 | 500 ~ 971 87.32 | S | 5.00 ~ 9.71| 1.567 7.91
10 100kN/m%E#B 2% — - ~ = —|3mzBz3 — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mzBZ S — ~ — — —
Zhst 1.00 | 000 ~ 4.34 54.25 | #Fhids | 0oo ~ 4584| 1.97 9.98 zhst 1.00 | 5.00 ~ 5.00 54.25 | #hs | 5.00 ~ 500 | 1.97 9.98
11 100kN/m%E#B 2% — - ~ = —|3mzBZB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ D — ~ — — —
zhn st 1.00 | 000 ~ 557 69.59 | FhUs | 000 ~ 557 2.05 10.36 zhst 1.00|5.00 ~ 737 69.59 | nSt | 500 ~ 7.37| 2056 10.36
12 100kN/m%E#B 2% — - ~ = —|3mzBZ3 — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ D — ~ — — —
zhst 1.00 | 000 ~ 691 87.54 | #hs | 000 ~ 691 | 259 13.07 zhst 1.00 | 500 ~ 1077 87.54 | #hust | 500 ~ 1077] 259 13.07
13 100kN/m%E#B 2% — - ~ = —|3mzBzB — ~ — — — | 100kN/mEB 2% — — ~ — —|[3mz8BZ S — ~ — — —
Zh st — - ~ = —| Thst - ~ = — — zh s — - ~ — —| #host — ~ — — —
14 100kN/m%E#B 2% — - ~ = —|3mzBzB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mzBZD — ~ — — —
Zh st — - ~ = —| Thst - ~ = — — zh s — - ~ — —| #host — ~ — — —
15 100kN/m%E#B 2% — - ~ = —|3mzBZB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ S — ~ — — —
Zh st — — ~ = — | Thst — ~ = — — Zh s — — ~ — —| Zhst — ~ — — —
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HXS—2 BENIERT HLBESNIERICET HEE2/2) i i HEEINEETZTS
SHERMONE | #EmES | 18151004 | B | AIL-3 |  PhEM | — B FEATFEFIEL - BTE
- AR D TIRIZlEET 51 i SMERR
B4 TREDBIODBHILNDKRES TEEFDEEFSENDKRES TRZFENBBOESLNDOKRES TREDHERILNDKRES
16 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zh st — - ~ = —| £hst - ~ = — — Zh s — — ~ — —| #host — ~ — — —
17 100kN/m%zE#82% | 1.00 | 000 ~ 018| 102.64 |3mE8ZB| — ~ — — — | 100kN/mi%E#2% | 1.00 | 1093 ~ 1141| 102.64 |3mERZ5 — ~ — — —
zhst 1.00 | 018 ~ 796 100.00 | #Fns | 000 ~ 796 | 2.33 11.80 zhust 1.00 | 6.00 ~ 1093 100.00 | #hlst | 6,00 ~ 1141] 2.83 11.80
18 100kN/m%EBZS| 1.00 | 0.00 ~ 0.51 107.57 |3mZEBZZ| — ~ — — — | 100kN/mi%E#8252 | 1.00 | 1060 ~ 1200| 107.57 |3mERZ - ~ — — —
zhst 1.00 | 051 ~ 830 100.00| TnS | 000 ~ 830| 225 11.36 zhust 1.00 | 6,00 ~ 1060 100.00| ZhLS | 500 ~ 1200] 225 11.36
19 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
zhst 1.00 | 0.00 ~ 757 96.82 | #nls | ooo ~ 757|221 11.19 Zh st 1.00 | 5.00 ~ 10.00 96.82 | #hst | .00 ~ 1000| 221 11.19
20 100kN/ Mm% 2% — -~ = —|amz8Bz3| — ~ — — — | 100kN/mi%E#B %% — — ~ — —|amzE#EZ3 — ~ — — —
zhst 1.00 | 0.00 ~ 757 96.92 | Tnls | 0oo ~ 757|219 11.09 Zh st 1.00 | .00 ~ 10.00 96.92 | #hs | 5,00 ~ 1000 219 11.09
21 100kN/ Mm% 2% — -~ = —|amz8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzhn st 1.00 | 000 ~ 426 5324 | Fhst | 000 ~ 126 | 204 10.32 zhust 1.00 | 5.00 ~ 520 5324 | #hs | .00 ~ 520 204 10.32
100kN/ Mm% 2% ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 2% ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/ Mm% 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#E 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zzh st ~ zh s ~ Zzh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ Zh s ~ Zh s ~




